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Use of simple calculator is allowed.

Attempt All questions.
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1, (@)  "The profit maximization is not an operationally feasible

criterion.” Do you agree ? Give reasons. 7
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What are the basic financial decisions ? How do they

involve risk retum trade off 7 8
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Or
(3reram)
“Traditional financial management was concerned with

raising of funds as well as optimum utilisation." Do you

agree ? Explain. 7

Mr. Ramesh is borrowing ¥ 20 lac from a bank for
expanding his business. Bank is giving him two options.

Option one is to return this money in five equal annual
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instalments at rate of interest of 10% p.a. Option two
is to retun this money in equal half-yearly instalments
over a period of five years at annual rate of interest
of 9.8% p.a. Which option should he select and why ?

Show the working. 8
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Banani Lid. purchased a machine three years ago al a cosl

of ¥ 35,000. At that time machinc was expected to have a
s

life of 7 years and nil scrap value after its economic life. Its

annual cash inflow before depreciation and taxes are 7 22,000.

Finance manager wants tv replace it with a new machine having

annual cash inflow before depreciation and taxes of ¥ 30,000.

Cost of the new machine is ¥ 50,000 and its estimated life

~is 4 years with scrap value of ¥ 2,000. Present scrap value

of the old machine is ¥ 10,000. Straight line method of
depreciation is used by the company. Corporate tax rate is
35%. Cost oi‘“ capital .is 12%. Find out different cash flows
associated with this replacement proposal. Advise finance

manager regarding the acceptability of this proposal on the

basis of NPV method. 15
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(3ream)
A project requires an initial outlay of ¥ 20,000 and having
tife of 5 years. It generates ycar ending profils before
depreciation and taxes of ¥ 12,000, T 10,000, ¥ 8,000, ¥ 6,000,
¥ 5,000. It is depreciated on straight line method. Tax rate

15 35%. Compute the following :
(7 Pay-back period;
(i) Accounting Rate of Retumn;

(##8)  Acceptability of this project if project should satisty
both the eriteria of standard pay-back period of 3 years

and standard accounting rate of return of 20%. 15
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(@ A firm has sales of ¥ 10 lacs and fixed costs of 1.5
lacs. Contribution margin is 30%. It has 10% debt of

Z B lacs. Find out operating and financial leverage. Also

PT.Q.
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find out that if firm wanis to double its EBIT. how
much % increase in sales is neceded 7 Verify the

results. 7

L' Ltd. and H Lid. belong io the same risk class where
equity capitalization rate of 12% is considered
appropriate. Both firms expect an operating profits of
7 5,00,000. L Ltd. has raised ¥ 20,00,000‘and H Ltd.
¥ 40,00,000 by way of 9% debt. Find out the valuc
and overall cost of capital of both the firms assuming
that Net Income approach applies. Which firm hgs more

value and why ? 3
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Explain and illustrate the concepts of homemade leverage
and arbitrage process under MM approach to capital

structure. 8

Briefly discuss three important factors affecting capital
structure. 7
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Differentiate specific cost of capital and overail cost of
capital.- Also specify out of these two which cost is

used while taking capital budgeting decision and

why ? 7
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A company has total investment of ¥ 10,00,000 and
1.00,000 outstanding shares of face value of T 10 each.
It eams a rate of return of 11% on its investment and
has a policy of paying 60% of its earnings as dividend.
Is it optimum dividend policy as per Walter's
model 7 What is the optimum policy and why 7 Assume
that the required rate of retum is 12%. Show the

working,. 8
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Briefly discuss the different types of dividend policy
from the point of view of stability,. Which policy is
generally followed in the corporate world and why 7 7
The shares of a company are currently selling at
T 53 per share in the stock market. The company paid
di\;idend at the rate of ¥ 3 per share last year. The
estimated growth rate of dividend is 6%. The required

rate of return is 12%.
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Determine the estmated market price of the equity share
it the growth rate of dividend turns oui-1o be as :
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What do you mean by working capital management ?

How is it different from capital budgeting ? 7

A firm is projecting sales of 50,000 units next year. Sale
price will be T 20 per unit. Raw material cost, labour
cost and overhead cost are estimated to be 25%, 20%
and 30% respectively. Raw materials remain in stock on
an average for 2 weeks, work in progress for 1 week
and finished goods for 3 weeks. Debtors are allowed
1 month credit while suppliers give 6 weeks credit. 25%

of sales are on cash basis. 10% margin is kept for
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contingencies. Prepare a statement showing funds to be

arranged for working capital requircments. 8
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Write short notes on the following :

() Float management;

(/)  Credit evaluation;

(¢}  Costs involved in inventory management.
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